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Math 221 Quiz 3 MGO\ Fall *04 8‘0

Neme: Score:
Instructions: You must show supporting work to receive full and partial credits. No text book, notes, formula sheets allowed.

1(6pts) Use Euler’s method to approximate the solution to the initial value problem

dy > -
oY =2

in the interval [1,2) at 4 equally spaced points. Sketch your approximating solution.
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2(4pts) The vector field of a differential equation % = f(t,y) is given at a few points below. If 5(0) = 1, what is the approximating
value of (0.25) by the Modified Euler’s method? Show your work.
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